Chapter 6 Study Guide
1. Stock market is risky? What is risk? Among Wal-Mart, Yahoo, and Google, which stock is the most risky one? Demonstrate it, based on the market performance of the three stocks in the prior year. 






















2. Can you do better via diversification? For example, you can allocate half of your fund to Wal-Mart and the rest to Yahoo. Now let’s demonstrate that it is less risky. 









3. Imagine that you have a fully diversified portfolio, meaning you have invested in every stock in the market. Now let’s figure out the risk of the stocks, such as WalMart and Yahoo. 
Steps
1) Calculate monthly return of each company. 
Holding period return = Return = P2/P1 – 1 = (P2-P1)/P1






2) Calculate the risk of each stock
Total risk of stock = Standard deviation
 The syntax for the Standard Deviation function is: standard deviation = STDEV ( Number1, Number2, ... Number…)







3) Set up portfolio. Here the portfolio has one share of WMT, AAPL, GE, and EXXON, respectively. 









4) Calculate portfolio’s risk. Significantly lower than the risk of individual stock?















5) Why risk of portfolio is lower?






6) Calculate correlation 

Syntax   -  CORREL(array1,array2);  Array1 is a cell range of values;  Array2 is a second cell range of values. 






7) A optimal portfolio should have stocks negatively correlated.  Why?






8) What are systematic risk and unsystematic risk? Why an optimal portfolio has systematic risk only?








9) How to measure systematic risk? 
Systematic risk is measured by Beta. What is Beta?










10) What CAPM? How to measure Beta? 
Beta = slope ( S&P500 return, stock return)

	Date
	wmt
	aapl
	ge
	exxon
	nbg_penny
	span_penny
	sp500
	portfolio

	1/2/2014
	74.1
	500.75
	25.29
	95.11
	4.49
	21.63
	1774.2
	695.25

	12/2/2013
	78.69
	561.02
	28.03
	101.2
	5.6
	20.84
	1848.4
	768.94

	11/1/2013
	80.54
	556.07
	26.45
	93.48
	6.27
	19.72
	1805.8
	756.54

	10/1/2013
	76.31
	519.67
	25.93
	89.01
	5.85
	18.71
	1756.5
	710.92

	9/3/2013
	73.53
	473.98
	23.7
	85.46
	4.05
	21.35
	1681.6
	656.67

	8/1/2013
	72.56
	484.39
	22.78
	86.57
	4.01
	20.93
	1633
	666.3

	7/1/2013
	77.02
	446.95
	23.99
	92.48
	3.55
	20.71
	1685.7
	640.44

	6/3/2013
	73.61
	391.64
	22.83
	89.12
	3.45
	20.14
	1606.3
	577.2

	5/1/2013
	73.96
	444.19
	22.77
	89.24
	7.22
	19.12
	1630.7
	630.16

	6/1/2004
	43.51
	15.73
	23.35
	35.94
	197.09
	7.44
	1140.8
	118.53

	5/3/2004
	46.18
	13.57
	22.29
	35
	202.59
	6.63
	1120.7
	117.04

	4/1/2004
	47.12
	12.46
	21.45
	34.22
	196.23
	6.9
	1107.3
	115.25

	3/1/2004
	49.35
	13.07
	21.86
	33.44
	177.06
	7.66
	1126.2
	117.72

	2/2/2004
	49.13
	11.56
	23.3
	33.91
	186.16
	7.43
	1144.9
	117.9

	1/2/2004
	44.42
	10.91
	23.94
	32.6
	180.31
	7.19
	1131.1
	111.87

	12/26/2003
	43.76
	10.33
	22.06
	32.77
	173.81
	6.99
	1111.9
	108.92



How to understand the following graph?
[image: fig0603]



How to understand the following graph?

[image: fig0609]






4. What is Holding Period Return?
Example:
You bought 1 share of HPD for $19.70 in May 2008 and sold it for $32.32 in May 2009. The company paid divided of 8 cents every quarter during the last two years.
How much is holding period return?


image1.png
Variability of Returns Compared

Unsystematic, or diversifiable,
risk (related to company-unique events)

in returns

1 10 20 25
Number of stocks in portfolio




image2.png
Security Market Line

B

Requied et when
beta=2

Warket requred ate of
retun when beta = 1

Expected retun (%)

05, 10 15 20 25




